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THE OPEN UNIVERSITY OF SRI LANKA
CERTIFICATE IN INDUSTRIAL STUDIES
FINAL EXAMINATION - 2009/2010

TTI2634 - APPAREL TECHNOLOGY
DURATION - THREE HOURS

DATE: 11.03.2009 ‘ TIME: 0930 - 1230 Hours

Answer Question 1, which is compulsory and addltlonnl five (05) questmns

Question 1 carries twenty-five (25) marks and Questlons 2108 carry fiftecen (15) marks

each.
1. a Listout the measurements needed to draﬁ ';Ski:r't‘:blbck. (02 marks)
b. How do you take the “Body rise” measufemenﬁ from a person? - (03 marks)
State five types of presser fools are available for different functions. (d4 marks) .
d.  What is the difference between the drop feed and the differential drop feed
mechanisms. ) | {03 marks)
e. How do you calculate the marker efficiency? =~ (03 marks) -
f.  List out four requirements of Spréading. . gy : (02 marks)
g.  State four pattern faults that can be occur during pattern making. (02 marks)
h.  Define the term “Tex™. o S (02 marks)
i.  State two methods of driving mecharﬁSm of ..se:wing m.ach_ine hook. (02 marks)
j.  Brefly explain the concept of communication. (02 marks)
2. a. Define the term “Stitch” according {o the Brit_ish Standard. (04 marks)

b.  Which stitch types represent the following $t_itc_h classes?
Class 100, class 200, class 300, class 400; class 500 énd class 600
' _ (03 marks)
c.  Compare the stitch class 300 with the étiﬁ:h class 400 based on their advantages

and disadvantages. o o (08 marks)

2

€))



3. a.  Describe the characteristics of eight classes of seams. {08 marks)

b.  Name the seam class for each of the following material configurations. (07 marks)
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Name five parts of the sewing machine and describe the functions done by each of

them. A (10 marks)

Explain the main features and applications of different types of sewing machine

beds used in the garment industry. (05 marks)

Explain three factors that should be considered during the process of lay planning.
(03 marks)

The following contract is to be produced by the cutting room.

Sizes 10 12 14 16 18
Quantity 40 90 80 - - 25 25
The maximum allowed depth of lay with this fabric is 50 plies. Maximum of 4
sizes can be included in one marker. Determine an economical lay plan (cut order
plan).
(12 marks)
How do you calculate the basic time? ' (03 marks)

Fora particular order, the target is to pi’dduce 720 garments per day. The length of
working day is 480 minutes. The standard allowed minutes for all operations are

given below.

Machine Operation SMY per Garment
Overlock | Attach front panel . . 2.00
Overlock | Sew side seam _ S 2.90

Steam iron | Under press .70

Lock stitch | Make waist band ' 5.65

Lock stitch | Attach waist band 1.30

Lock stitch | Hemming _ 1.25

Steam iron | Press off 1.80




(i) How many work places would be required at each operation to make 720

garments a day?' (08 marks)
(i) How many operators would be needed to staff the line? (04 marks) .
Write a short essay on the reasons for using interlinings. (08 marks)

What are the factors, you should consider during selecting a interlining for a

particular garment? (07 marks)

“Discipline is orderly behaviour of employees towards the attainment of
organization objectives”: Discuss two types of disciplinary processes widely used

in the industry. (06 marks)

“The role of management is to coordinate and bring together various elements of
business for achieving the desired objectives;” Explain three categories of total

management functions. , {09 marks)
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